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DLet thefinstDbject be farcth Df mass 
M aDa Madio8 

Let the Second ohje ct be pbiect A of 
mass M 

Let the distance beteen them. 

Now occe of_Qmaviy between tuoObject

F= GMm 
tt2 

Bui When distance between them_i3 educsd 

to hoalf 

New disionco between fhe Fa rrth Ond the 

D6ject A 

So orceof 9navit4 betuwe en tuwo o bje ctS_ 

GMm 
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NoL Een imm and 
2 

F=AMm GMm 4 m 
r 

2 

F GMm 

4Gmm 
L2 

Henc E Mm L 
4GM m 

So F= 4F 

ThusLe Can Sau nat the hewfornce of 
QHavity b etw e en_ two Obj ecs fs fou 

times the initial DNe 
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A hea Objact do not fai fosterc hon 

0 light ohje ct because duringfmee au 
iruresp.ective of thcir massOS 

2) 

eweybody- 
aLis with an accolenathon accoLorr otion 

dun tngrauits) nich is 9. m/sand 
0A alue of nlan dlo not dep0nds pon 

tha nmase Df tho body herefo rue though 
QLouit aiona foruco being ptoporction ol to mass 
heauyohjects doot fallfoster than lignt nhjecth 

3 The forcce Lwith uhich the bOrttH 
mooni eaual to the forrco wIth_whi ch 
The moon Qttrrods the EArth_duo to 
NeLutans thircd lo w Of motionthatCuesy 
Qhon bave n Qual Ond opposit hoaction
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4)Let thefistobjecthave mossm Ond 

Second obiect bav moss M2 Ond distance 

betuseen them 13 hen 

La Gm.m 
rc 

i object is doubled wneo masS Of Onc 

Let Nnforco be = F Ond 

ihus Gx 2mx m 

2G m_m2 
2 

NOw E= 
FL 

2 am M 

m,m2 
2 

E 2 
F 

8o E= 2F 
Hence theforce between tuo ohj ects ia doobied 

Lwnen Mass Of 0ne 0t bodies is doubled1 
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fE Gm_m2 
2 

wnendistance betweentwo bodiesis oloubi2& 

Let the neu forrce_ he= fa and 

Diston ce b et ee n them= 2r 

|No w F2 m2 

mm12 
4r 

Thun fa= Gmim 
fL 

mM 

So E 
FL 

2 

4rc2 4 

4 Fa- FL
Ond Fa F 

Hen the fornco b etween two ohjects is 
Leducod by /4times 
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NO LOnendistonc betw een tu20 bodies isL 

tripled 
Distance 23rt 

Let fonrrce be EL ehene 

f4 = 

C3re 
Gm m 

Nou Fa 
F 

GmmD 
n 

GmM 

Fa = r2 

F 
So 

EL 

Hence he fomcobetween two objectS 
is roduced b 1/2 th fimas when distanc 

6 etween fhnem is ruipted 
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E m m 
2 

wnen massD bo fh h 0biecta 1 doubed. 

Let th n fonce he Fs hao 
mass of rrst0bj ectE 2n nd 
mass o ecDnd object 2 m 

NOwfs= 2m 2ma 

4Gm M 

Fs 4g M,nM2 
F 

2 

Fs 4GmM 4 
FI ) mim 

Thos Fs-4F 

Hence heforrce 6etween 2 O6iects is 4Rmu 

phen the moss 0 boh obiects S doubleol 
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DAns) Slatement-1 hen disiaOce 6euneen 

two obi ect is donb led ond olso mass Of 

body s do ubled rovitaion_ toc coch 

9tmal ns Same 

totement2 According to Nptons 

LQu of_Qrravitation orLce is direocH 

prLOporcthonal to massOf hodu 

Ans Statement is trrve Statement 2 is 
trwe and Stotemont 2 is CO oct 

ezplaination pf Atot ement-1 

HomeAssionment-3 

12 me Occelernotion prrodusod mo 
fallin bndy- Lund rauiOtionalpull 

of o rcdh is Caued Occelezationdus to 

grDuty- 

22 wnenForrtn ottaocts faLng apple 

tne Opple aiso Ottrroct he Fath 

but he Forcth does not Move o worzes 

oppie becaus e tho Qpplei not capoble 
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the apple becan22 tho OLLolerraton 

pLnduced by the Opple 1o_ the Fordh 

f yLs &mol Oumost neQLigLbi duoto 

mass Of Forth hon forro the mossive 

thonoh 0pple Ottuo.cte no Porth6ot 

due ts masslve oass have almoS1 

zeno0ccelerzathon forr nhicht_ dbes 

Dot move tounards ho 0pp1e 

4 The imporctonco 0f_Oniversol Lan of 

Dn0vitotion Q rre 

ho QrLovictA-tionalfonce 1i aespon.slble 
for keeping-DS iqntisbound uith 
the EArcths Sor oco 

i2zesponcible or holplin_the 
Otmospherr Orroond th Porrth 

E is rzesponsib1e or &nowfoi Dnd 
Olso roin faLu 

The Qrzovitionol forrce 18 01So responsib 1e 
or plon et@us motion. 
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Q1so helps in forumatian of tadalLuQues 

Considert the Earcth b a Spherk 
of mass m1 _and 2adlius R0hlch s 
6400 Km 

henQrtavity at- Onypalot on Earcth's 
sorrface be 

GM 
R 

Let the haghtQbove tho EarcthsSornface 
oherte Qccelerzation due to grcavity a 

g w21LL half of be 

Sa = GM 
(Ath) 

m 
(Arh) 

Now2 

m 
A2 

Gmx R 
aMX +b 

A 
h+h 
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Nou A g 2 

2 9 2 

(R 
RH 2 

R 
2 Rth) 

V 2 Rth 

R V2 R 

Rth)1= V2R 
Rth 

h=v2 R R 
R(2- 

2 R 

Tho s h= 6400 ( 2-)_ 

Henc E 64002-1) m hoight abeUe

tne torcth Sorrfonc he Oceelorraton. 

duo to qrOvits will be half of 
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acceleeratian due to Qraity pn Earth sufaco 

Ho moAssignmeat 

1 6 Does hot chong0rrom_placo to pLace 

2 C40N 

Home Assionment 

St.1 The value o - doesn0t depend on 

mass Of body 

St2 AccelerLOtiondue to raviH is Q congtam 
Qontity 

Ans).31 Stole ment istruwe but Statement 

is false 
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